
 
     

 

 

Assembly Instructions 
For fire hose storage shelf “Exclusiv“ 

Offert-Artikel-Nr. 

07.01.10 

 
Fire hose storage shelf “Exclusiv“ type P7-SRE 

Smart stackable construction with 3 (or 4) shelves for 23 to 31 lengths of 70-mm fire hoses, or 32 to 43 
lengths of 45-mm fire hoses. Easy and secure manoeuvring. High-stability angles and frame 
completely galvanised. Colour coating optional. 
 

 
1. Easy rolling, semi-elastic and  
    resistant guiding rollers with fixing  
    device 
    each with 3 nuts M8 

 
 

Tools: 2x open spanner size 10, 1x box spanner size 13 

Assembly: 

1. Fixed and guiding rollers each with nuts M8. 

2. Fix vertical frames each with 4 hex bolts M6x16. 

3. Place wedges on bearing angles and secure each with 4 hex bolts M6x16. 

4. Screw flat crossing bars with 4 hex bolts 6x16 and nuts M6 from reverse side towards inside. 

5. Tighten brace middle point. 

  Gestaltg.: Geprüft FT: 25.04.07 Geprüft NM: Freigabe GF/GL:  
 

3. Place wedges on bearing angles and secure 
    each with 4 hex bolts M6x16 
 
 
 
 

To assemble the 4th shelf,  
shift the bearing angles  
1 and 2 in the direction of  
the arrows. 
Otherwise follow point 3. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

S
ac

h-
N

r.
: 8

-9
93

-8
10

7
41

 –
 0

7
.2

00
7 

Round steel bars 
prevent hoses from falling 
 
 
4. Screw flat crossing bars 
    with 4 hex bolts M6x16 and 
    nuts M6 from reverse side 
    towards inside 
 
 
 
5. Tighten brace 
    middle point 
 
 
 
2. Fix vertical frames 
    each with 4 hex bolts 
    M6x16 
 
 
 
1. Easy-rolling, semi-elastic 
    and resistant fixed rollers 
   each with and 3 nuts M8 
 
 
 
 
 
 
 
 
 
 
 
Angle base frame, 
splayed on the corners 
for protection against walls, door frames, 
elevators etc. Serve also to keep distance 
between shelves. 

 

  


